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7 100kN/mM%EBZ 5 - -~ - -|3mEFBZD -~ - -] 100kN/ Mm% % % - -~ -|3mZEiBZ D -~ - - -
s 1.00 | 0.00 ~ 4.64 57.86 | FnS | 000 ~ 464 | 1.86 9.59 Thst 1.00 | 5.00 ~ 56.00 57.86 | ThUS | 5.00 ~ 6.00| 1.86 9.39
2 100kN/mM%BZ 5 - -~ - -|3mEFBZD -~ -] 100kN/ Mm% % % -~ -|3mZEiBZ D -~ - - -
s 1.00 | 0.00 ~ 5.14 64.06 | =N | 000 ~ 000\ 1.72 871 Thst 1.00 | 5.00 ~ b6.50 64.06 | TN | 6.00 ~ 65560)| 1.72 871
3 100kN/mM%EBZ 5 - -~ - -|3mEFBZD ~ -] 100kN/ Mm% % % ~ -|3mZiBZ D -~ - - -
s 1.00 | 0.00 ~ 586 73.38 | st | 0oo ~ o000 1.60 8.09 Thst 1.00 | 6.00 ~ 7.00 73.38 | =nLS | 6,00 ~ 7.00| 1.60 8.09
4 100kN/mM%E{BZ % - -~ - -|3mEFBZD ~ -] 100kN/ Mm% % % ~ -|3mZEiBZ D -~ - - -
s 1.00 | 0.00 ~ 591 74.05 | FnS | 0oo ~ o000\ 1.71 8.66 Thst 1.00 | 6.00 ~ 6.70 74.05 | TnLS | .00 ~ 6.70| 1.71 8.66
5 100kN/mM%EBZ 5 - -~ - -|3mEFBZD ~ -] 100kN/ Mm% % % ~ -|3mZEiBZ D -~ - - -
s 1.00 | 0.00 ~ 6.02 75.40 | FhLs | 000 ~ 602| 1.584 929 Thlst 1.00 | 6.00 ~ 7.00 76.40 | TnLS | 6,00 ~ 7.00| 1.584 9.29
P 100kN/mM%#BZ 5 - -~ - -|3mEFBZD ~ -] 100kN/m#%#8Z% % ~ -|3mZEiBZ D -~ - - -
s 1.00 | 0.00 ~ 5.06 63.06 | FnLst | ooo ~ ooo| 1.76 8.90 Thist 1.00 | 6.00 ~ 5.40 63.06 | TN | 6.00 ~ 6540 1.76 8.90
- 100kN/ Mm% Z 5 - -~ - -|3mE#ER S ~ -| 100kN/mi%#8Z % ~ -|3m#EEZ S -~ - - -
zhnLst 1.00 | 0.00 ~ 4.77 59.50 | =nst | 0oo ~ 000\ 1.71 8.66 zhs 1.00 | 6.00 ~ 56.00 59.50 | =hs | 6,00 ~ 6.00| 1.71 8.66
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImERZD ~
Ths ~ ZzhLst ~ ZhLst ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#BZ 5 ~ ImERZD ~
Ths ~ st ~ ZhLst ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#BZ 5 ~ ImERZD ~
Ths ~ ZzhLst ~ ZzhLst ~ zhs ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#BZ 5 ~ ImERZD ~
Ths ~ ZhLst ~ ZhLst ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#BZ 5 ~ ImERZD ~
Ths ~ ZzhLst ~ ZzhLst ~ zhs ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#BZ 5 ~ ImERZD ~
Ths ~ st ~ ZhLst ~ zhs ~
100kN/ Mm% A5 ~ 3mEEZ D ~ 100kN/mM%EHBZ 5 ~ ImERZD ~
Ths ~ st ~ st ~ zhs ~
100kN/ Mm% Z 5 ~ 3mEBZD ~ 100kN/mM%E#BZ 5 ~ ImERZD ~
zhst ~ ZhnLst ~ ZhnLst ~ zhs ~




